Summary

The medieval period characterized by tough struggle between
the secular and ecclesiastical powers. Both may be trying to
get as many resources to control the medieval community.
Although they were constantly in dispute, they also
collaborate together. We see that, for example, in connection
with the Inquisition. In order to be executed ecclesiastical
judgment must be convicted passed secular power. Only that
could have done the maximum penalty, execution. In the High
Middle Ages, there was a decline of the Church. That's why
there was a new wave of heresy. It was more organized than in
the past. The new movement, especially the Cathars, got the
high-quality background facilities in the south of France,
Languedoc. Here they had the support of the local nobility and
burgess. It was a beneficial cooperation on both sides. Church
did not 1like this cooperation. And soon this place of
resistance was attacked the Church and the government of the
country. The rebellion was suppressed. The Inquisition worked
in this area after that. Must add that was wvery successful
work. Soon Ingquisition completely wiped out local heretic.

Single human had in the Middle Ages difficult position. He
had unconditionally belong to the Church and had to 1live
according to its dogma. This meant that he had to renounce
pleasures of the body. Although the church has applied such
regulations, many priests and bishops did not live according
to them. Heretics protested against this decline. The protest
also came from the sides of influential church leaders. Church
responded by many reforms, but also uncompromising repression

of critics.



